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The following table gives the value for tanx for 0.10 < x < 0.30.
Find the value of tan (0.26).

| Q.No. Details | Marks | COs” [ BTL#
Q.1 10
i) For the Binomial distribution, the probability for the random
Y variable X for X=r, i.e, P(X=r)= :
) ii) If a pair of coins is tossed then the expected value of the number of
heads is .
iii) Two marbles are drawn successively from a box containing 3 black ég; 1;%
and 4 white marbles. Find the probability that both the marbles are
black if the first marble is not replaced before the second drawing.
iv) Average number of accidents on any day on a national highway is
1.8. Determine the probability that the accidents are at most one
given thate 18 = 0,16529
Q.2 i) Area of normal curve between y — 3¢ and u+30is(a)0.95 (b) 10
0.997 (c)1 (d) none of these.
X
ii) If the probability density function is given by f(x) = %e_?f,
0 < x < oo, then the distribution is (a) Poisson  (b)Gamma (c)
Exponential (d)Beta distribution.
iii) The average height of soldiers of a country is given as 68.22 inches o3 BT1,
with variance 10.8 square inches. How many soldiers out of 1000 som | U
would you expect to be over 72 inches tall? Given that area under
- the normal curve between z=0 and z=1.15 is 0.3746.
iv) If the probability density function is given as
fl) = {kxg 0<x < 3 find the value of “k” and the probability
0 otherwise
L between x = % and x = S
Q.3 i) The real root of the equation xlogiox — 1.2 = 0 lies between . 10
and .
ii) Form the forward difference table for the data Uy = 225, uy = -
238, uy, = 320, uz; = 340. Eg: g;i




x 010 [o015 020  |0.25 0.30

tanx |0.1003 |0.1511 | 02027 |0.2553 | 0.3093

iv) Given uyo = 24.37, u,, = 49.28, Uyg = 162.8 and u;, = 240.5.
Find u,g by Newton’s divided difference formula

i) Write the formula for Simpson’s one third rule for the function f(x,y) | 10

Q4 defined at the points (xg,y,), (x1, V1), ... (X Vr)-

ii) Evaluate f06 3x? dx by dividing the interval [0,6] into six equal parts
by applying Weddle’s rule. - gTTzl

iii) Apply modified Euler’s method to solve % = x + 3y subject to God ‘;ﬁ
y(0) = 1and find the approximate value of y(0.2).

iv) Find y(0.2) for the equation % = —xy, y(0) =1, using Runge

P Kutta’s method
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